OKS-APQ – Concept Elaboration Report
	Ref
	Questionnaire Wording
	Concept Elaboration
	Developer’s Comments

	1
	THE OXFORD OKS-APQ (Oxford Knee Score–Activity & Participation Questionnaire)
	This is the title of the questionnaire. It is called the Oxford OKS-APQ, with Oxford being the city in which it was developed, and ‘OKS-APQ’ being an acronym for ‘Oxford Knee Score–Activity & Participation Questionnaire. This questionnaire aims to assess the impact of problems with the knee (the joint between the thigh and lower leg).
The acronym ‘OKS-APQ’ should be left as it is and the rest of the item should be translated.
Note to Developer:

Please could you advise on the intended meaning of ‘young/active’ within the title?

	Developer:

The terms are used in a relative sense: 

The OKS-APQ has been developed as an adjunct (i.e. to be used in addition) to The Oxford Knee Score to evaluate relatively younger patients (aged ~30-65) undergoing knee arthroplasty for osteoarthritis of the knee. Such patients tend to be (or have expectations of being) more physically active than patients undergoing joint replacement in older age-groups, probably because they compare themselves with (healthy) peers.
PharmaQuest:
Thank you for your explanation.

	2
	Circle as appropriate:
	This instructs the respondent to circle the most appropriate/applicable choice for them, from the options that follow (right or left knee).
	

	3
	RIGHT / LEFT KNEE
	The respondent must choose one of these options to indicate whether they are responding in relation to the knee on the right hand side of their body, or the knee on the left hand side of their body.
	

	4*
	Please tick ( one box for each statement
	The respondent should mark a tick (() in only one box per statement. 
In countries where ticks are not used and a cross/X is more commonly used in questionnaires, this may be translated as ‘Please cross (X) one box…’ or ‘Please place a cross (X) in one box…’.
	Developer:

All OK

	5*
	During the past 4 weeks:
	During the past/last 4 weeks. 
Note to developer:

Please can you confirm whether this should refer to the past 4 calendar weeks, or to the past 4 weeks/28 days up until today? In some languages, this may affect the wording of this item and the tenses of the items below.
	Developer:

If using the word ‘past’ is preferable to ‘last’ please advise – and change this word.
This refers to 28 days (not calendar)
PharmaQuest:
Thank you. We would like to change this to ‘past’. Therefore, translators, please translate this as:
During the past 4 weeks:

	6*
R1-18
	Strongly agree
Tend to agree

Neither agree nor disagree
Tend to disagree

Strongly disagree
	These are the response options for questions 1-18.
Strongly agree – The respondent strongly agrees with the statement; they feel that the statement very much applies to them.
Tend to agree - The respondent tends to agree with the statement; they feel that the statement mostly applies to them.

Neither agree nor disagree - The respondent does not agree or disagree with the statement; they feel that the statement does not apply to them.

Tend to disagree - The respondent tends to disagree with the statement; they feel that the statement mostly does not apply to them.
Strongly disagree - The respondent strongly disagrees with the statement; they feel that the statement very much does not apply to them.
	

	7

Q1
	Being unable to do activities (e.g. sports, dancing, walking) to the level I want, because of my knee, is a problem for me.
	The respondent is unable to do activities to the level/degree they want because of their knee and this is a problem for them.
Examples given of activities are sports, dancing and walking.

For example, they may not be able to cycle very far because of their knee, and this may be a problem to them because it affects their travel plans, their fitness, their enjoyment of the activity, etc.

Throughout the questionnaire, it is important that ‘problem’ should be retained, rather than using alternative translations such as ‘difficult’ or ‘painful’. ‘Problem’ could refer to a range of things - it could be that the activity leads to delayed pain, there could be pain, stiffness, or weakness affecting the knee, the respondent could be experiencing increased anxiety about putting stress on the joint, etc. 

Note to developer:

In some languages, there are several words for ‘walking’, depending on the type of walking which is meant, e.g. there can be a distinction between going somewhere by foot (for example, to the shops), going for a walk (for example, to walk the dog or for some fresh air/exercise), or going for a walk in the sense of hiking or rambling. 

Please can you confirm which sense of the word ‘walking’ you would prefer translators to use when a distinction must be made?

Also, the full stop is missing from Q1, Q3 and Q8 so we will recommend adding these for consistency with other items.
	Developer:

Where such a distinction is necessary (for particular languages)

Please use the sense of ‘going somewhere by foot – such as going to the shops’ 

(this is the most inclusive sense)

Yes, do please add these.

PharmaQuest:

Thank you. Translators, where a distinction is necessary in terms of the translation of ‘walking’, please translate it in the sense of ‘going by foot’ if possible.

	8

Q2
	Carrying an additional weight (e.g. at work, shopping or a child) is a problem for me, because of my knee.
	The respondent finds that carrying an extra weight is a problem for them because of their knee.

Examples given are items which may be carried at work, carrying shopping, or carrying a child.


	Developer:

OK

	9

Q3
	I need to modify work or everyday activities, because of my knee.
	It is necessary for the respondent to modify/adapt their work activities or their other everyday activities because of their knee.
	Developer:

OK

	10 

Q4
	I need to plan carefully before going out for the day because of my knee (e.g. taking painkillers, using a brace or checking that there will be places to sit down).
	It is necessary for the respondent to plan carefully/thoroughly (i.e. be organised) before they go out for a day (i.e. somewhere outside of the home) because of their knee.
Examples of the ways in which they might plan ahead include taking painkillers, using a brace or finding out if there will be places where the respondent can sit in order to rest.
Painkiller: Also known as an analgesic, this is a type of medication which relieves pain.
Brace: An orthopaedic appliance that supports or holds a movable part of the body (in this case, the leg) in the correct position while allowing motion.

Note to developer:

Please could you confirm whether ‘taking painkillers’ refers to the respondent consuming painkillers, or to taking painkillers with them when they go out for the day?
	Developer:

OK
OK
Good question. We mean ‘consuming’ 
PharmaQuest:

Thank you. Translators, please translate this in the usual sense of taking/consuming painkillers.

	11

Q5
	Being able to weave or dodge around people in a crowded place, is a problem for me, because of my knee.
	The respondent is unable to weave or dodge/move around people in a crowded place (somewhere full of people) and this is a problem for them because of their knee.


	Developer:

OK – here weaving/ dodging also implies ability to change direction quickly ie. with some level of agility and confidence
PharmaQuest:

Thank you. Translators, please keep this in mind.

	12

Q6
	It is a problem for me to stand for very long, because of my knee.
	The respondent finds that it is a problem for them to remain standing up for long periods of time because of their knee.

	Developer:

The emphasis here is on standing in one place i.e. not to be confused with walking (or generally ‘being on one’s feet’)
PharmaQuest:

Thank you. Translators, please keep this in mind.

	13
Q7 
	Experiencing delayed knee pain or stiffness after an earlier activity (e.g. walking, sport, work/housework) is a problem for me (i.e. that night or next day).
	The respondent finds that experiencing/having delayed knee pain or stiffness after an activity that was carried out earlier (either earlier in the day or on the day before) is a problem for them.
Examples of the activities given include walking, sport and work/housework.

Stiffness: Rigidity, inflexibility, making it difficult to move.
Note to developer:

As in item 7, regarding ‘walking’, please could you confirm which sense of the word you would prefer us to use in this item?
	Developer:
OK

As before,

Please use the sense of ‘going somewhere by foot – such as going to the shops’ 

(this is the most inclusive sense)

PharmaQuest:
Thank you. Translators, where a distinction is necessary in terms of the translation of ‘walking’, please translate it in the sense of ‘going by foot’ if possible.

	14

Q8
	Joining in fully with friends and family is a problem for me, because of my knee.
	The respondent finds that joining in/participating fully with friends and family is a problem for them because of their knee.
This could refer to joining in with social activities, such as meeting friends or family for coffee or to go shopping together, playing with children/ grandchildren, attending events such as weddings or parties, going on day trips with friends or family, etc.
	

	15

Q9
	Being unable to walk up or down a slope is a problem for me, because of my knee.
	The respondent is unable to walk up or down a slope/incline and this is a problem for them because of their knee.
The gradient (steepness) of the slope is not specified so please use a general word for ‘slope’ if possible, which would encompass a slight incline as well as a hill.
	Developer:

OK

	16

Q10
	My knee problem can put a strain on my close relationships.
	The respondent finds that the problem with their knee can put a strain on their close relationships.
Strain: Severe or excessive demands on something; causing pressure, difficulties or tension. 
Close relationships: Relationships with people who are immediate family, good friends, spouse/partner, etc. ‘Close’ does not refer to physical proximity, but rather to the level of intimacy in the relationship.
	Developer:

OK

	17

Q11
	Being unable to walk at the pace I would like because of my knee, is a problem for me.
	The respondent is unable to walk at the pace/speed they would like to and this is a problem for them because of their knee.
For example, they may not be able to walk as fast as they would like.
	Developer:
OK

	18

Q12
	Twisting or turning is a problem, as my knee may give way or be painful.
	The respondent finds that twisting or turning is a problem for them because their knee can give way or hurt/be painful.
Twist: In this context, this refers to moving the body so as to rotate the knee.
Turn: To move to face in a different direction.
Give way: To collapse or fall down; when the knee becomes unstable and no longer supports the person’s weight in order for them to stand or walk on it.
	Developer:

OK

Yes – although noting this can be a perception more than a reality – the knee ‘feels like it might suddenly fail to support the person’s weight’

PharmaQuest:

Thank you. Translators, please keep this in mind.

	19

Q13


	My knee restricts the type of holiday or day trip I can take, which is a problem.
	The respondent is restricted/limited in the type/kind of holiday or day trip that they can take, which is a problem for them because of their knee.
Holiday: (‘Vacation’ in US English). This refers to time taken away from work or usual activity, which can be a few days to a few weeks or even longer, and spent somewhere away from home. For example, a holiday for someone from the UK could be a two week holiday in Spain, or a weekend in Ireland.
Day trip: An excursion/trip which is completed in one day, for example, a trip to another town/city or to a nearby beach which can be travelled to within a few hours.
People with knee problems may be unable to take holidays or day trips involving lots of sport or physical activity. Long periods sitting in a car/bus/train/plane, or carrying suitcases, can also be problematic.


	Developer:

OK

	20

Q14


	Walking on uneven or rough ground is a problem for me, because of my knee.
	The respondent finds that walking on uneven or rough ground is a problem for them because of their knee.
Uneven: Having a surface that is not level or smooth, for example ground which is on different levels (e.g. uneven pavements, cobbles, grass or scrubland). 
Rough: Course in texture; not smooth or flat; broken ground.
Note to developer:

In some languages, it may not be possible to use two words for ‘uneven’ and ‘rough’. In these cases, please can you confirm whether it would be acceptable for one word to be used?
	Developer:

Ok – but avoid (I’ve removed) using steps as an example – that’s something specific.

Thanks - uneven is best.

PharmaQuest:

Thank you. Translators, please use two words if possible. If this is not possible, then please use a translation of ‘uneven’. 

	21

Q15


	Being able to wear footwear of my choice is a problem, because of my knee.
	The respondent is unable to wear the footwear that they would like and this is a problem because of their knee.
Footwear: Outer coverings for the feet, such as shoes, boots, and sandals.
For example, they may want to wear shoes which have raised or narrow heels, or which give limited support/stability such as flip-flops, but this may aggravate their knee problem.
	Developer:

OK

Men also wear raised heels sometimes – but rarely call then ‘high’

PharmaQuest:

Thank you. Translators, please keep this in mind.

	22

Q16
	Being able to dash across a busy road is a problem for me, because of my knee.
	The respondent is unable to dash across a busy road and this is a problem for them because of their knee.
Dash: To run somewhere suddenly and hastily.
	Developer:

OK

	23

Q17
	Needing to take longer to do everyday activities, because of my knee, is a problem for me.
	It is necessary for the respondent to take more time to do everyday activities because of their knee and this is a problem for them. 
	Developer:

OK

	24

Q18
	I need to take medication to manage my knee problem. 
	It is necessary for the respondent to take/consume medication/medicines in order to manage/handle their knee problem.
	Developer:

OK


Additional key for reference column

Q1 = Question 1

R1 = Response options for question 1

R3-7 = Response options for questions 3 to 7

3* = Text which is repeated in the questionnaire
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